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frfaRad 7 & sH-a1 w2 guferd 781 8 2
IUUH W H g A

Which of the following are incorrectly matched ?
None of the above

qufees 3 ST T God AT AT R
D D

The most common route of spread of tuberculosis is :
Pulmonary Lymphatics

S XM S o [oTT TS sht At €
TATE

Material of choice for making dental impression is :
Alginate

RIS AT ot SRR o forq ot a1 @ 2
TfreeT T e

Which premolar has the largest buccolingual diameter ?
Macxillary First Premolar

Teh AT Aok hl T H EshHUT BT TR | 98k foTU SHehT SMSIEahIfUeh S BIdl @ | Sife o 0 @il 81 St 2 |
ﬁmﬁﬁﬁﬁ%#ﬁw%wmﬁaﬁ%?

A young swimmer gets an ear infection. He goes for an otoscopic examination for the same. During
examination cough occurs. This could be due to the involvement of which of the following nerves ?
Vagus

y
P

7T St foremm Bt 2
Terforem fefema ®

Pharyngeal pouch is present in :
Killian’s dehiscence

Hiflger Ty o aret T 28-adffa wiger ol Uk &q fafercdss grT shifAes ufEeiesiea & sae & fau
i femm ot | 31 HE w1e 98 Tvierdt 81 TS | 36 TR fatheTdT ST SR ShT €1 WehdT @ 2

fremTitas Uereat st U ST S TR IS ohT ST ohid 8

A 28-year-old female on oral contraceptive was given Rifampin for the treatment of chronic periodontitis
by a dentist. After two months she gets pregnant. What can be the reason for this contraception failure ?

Rifampin induces enzymes that metabolize estrogens
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8. U 1 WYHE LMY, 52-afeT i T TR-A IR G &4 ST ST oht Rrobrara Bt 2 | a8 o7 7 vee
ot 56t T @ ifed off o7 ae 38 LTS o1 vt =rer ot | frfoifad # @ - Hiflash sreuresaiie a
ST SHTL0T S Hehell & 2
ST
A known diabetic, 52-year-old female patient complains of pain and burning sensation on urination very
frequently. She suffered from the same problem three months earlier and was diagnosed with UTI then.
Which of the following oral hypoglycaemic drug can cause this ?
Dapagliflozin
9. udieniferfieh foram arar enfisiise 2 -
HAREH
The opioid having anticholinergic action is :
Meperidine
10. siterieifes fa i nfa i @ wr wwifad e fomm sitelieifes ad & Tra & fog sta W siwy frdwm
REREECECIGE
uRreTfuaeT
NSAID commonly prescribed for relief of orthodontic pain without affecting the rate of orthodontic tooth
movement is :
Acetaminophen
11, 7S 1 Afdaleg (3R, Sfatimar (fewgiesn) 3R SAifeameiirn freferfad # & forg tihiede o %
yfdefet TTE & 2
Gingi\;al hypertrophy, hirsutism and osteomalacia are adverse effects of which of the following
anticonvulsant drug ?
Phenytoin
12. T IQTSHT (Yeied RIhiE) o o1 § fefiad § § HH-8 e 9 & 2
(i) T ICTSHT ShT ST U TATESS TAHT THITH T ¢ |
(i) & E1G &1 H AT IS (Ueteet RIehIHT) Ferd HIZT BI ¢ |
(i) ST 3 3 T AT TeTAT (NTH FIHIE) HI AT FA A SA R |
(iv) m@@m(ﬁémmﬁm)ﬁﬁz@%m%mgmﬁaﬁwaﬁwwmmm%l
3
(i) 3R (iv)
Which of the following statements are true about palatal mucosa ?
(1) The epithelium of palatal mucosa is keratinized stratified squamous epithelium.
(i) Palatal mucosa is thickest in the first molar region.
(iii) Thickness of palatal mucosa decreases with increasing age.
(iv) Transgingival probing can be used to assess the thickness of palatal mucosa.
Options :
(i) and (iv)
13. o wiefiw e Tt e stafy & siferes e smar 2, @ Ffsr oo § wpe e g e
rsfea @t
When a muscle is stretched beyond a certain resting length, the major contribution to the passive force is
by :
Titin
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14.

TeSrEU ohY wrerfires foma TR |
HIGUT AfeTeRT U ATRRAT

Aldosterone has its primary action on the :
Collecting tubule and duct

15.

T aTfeehTet | frame ot Teh o foTe s -t it Soierht € 2
bro e )

<

Which cells are responsible for preventing leakage from blood vessels ?
Platelets

16.

Ui 9eT T | -
WER T

Aging pulp increases :
Fibrous elements

17.

Sframuy afg, 156 o STIERH 1 T W AT
T, &, feem, fimrae

Select the correct order of sequence of bacterial growth curve :
Lag, Log, Stationary, Decline

18.

ATSIERIT ol TETATSST i T T8 37T ekl I foTRad § § Shi-ET & ?
AT FAT

Which of the following is the best method of sterilizing a laryngoscope ?
Autoclaving

19.

S A M L -
uishRa erifeesTse

Cidex contains :
Activated glutaraldehyde

20.

ST G e BhiT W Ugd €, a1 o qiafid g1 S € ;
UL W E G A8l

When X-rays fall on an intensifying screen, they are converted to :
None of the above

21.

AR 5 & HiH-61 T T @ 2

Which of the following is a Prodrug ?
Enalapril
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22, TewesE AT (fagfed Falied) & @Y S&¢ & &0 W %okl % fem & fau fefafad 4 @
-1 A R ST =teT 2
() TR eamms
(ii) AT 3Mreeften (ared foaT) gor
(iii) dT g (iv) oY 3w
oq :
(@), (ii), (iii)
For a fracture at angle of mandible with disturbed occlusion, which of the following radiographs should be
done for diagnosis ?
(i) Panoramic radiograph
(i1) Lateral oblique view
(iii)) PA view (iv) Waters’ view
Options :
(@), (ii), (iii)
23, wrrfies wicrer Y skt § TATSHT T2 ST SHIF-HT ST A & ST R 2
y-TASG AT
In primary immune deficiency the fraction of plasma protein reduced is :
Y-globulin
24. T 30-a979 STcAE WA o i SITEe Aieal [Tt SR Seedatis @Te qarei ol 4o & & ¢ | 39
STl STeH, 2edl gy 3T fireed oY fRrehmad @ | Sush forart therel O S1emaT= € | o8 el difed &y okl € -
e A
A 30-year-old highly health conscious woman has been ingesting vitamins and healthy foods. She is
complaining of hair loss, double vision and headache. Her liver function tests are abnormal. She may be
suffering from :
Hypervitaminosis A
25. S o ToTa foeeh o1 qliaoT (g o) ferar ST @
STeh &9 W AHeTEE 9T
Coin test is done for checking :
Dark room safelight illumination
26. JEEICATSHITGE & difed ueh miadt afeett 3 [gM Uieiel #§ = T afg <t 7% | Fefafad o @ s-ar s
e R ?
HUT HERAUT ST Io0 HWTSHT o AT AT HERAUT
A pregnant lady suffering from toxoplasmosis showed fourfold increase in IgM antibodies. Which of the
following statement is correct ?
Acute infection with high chances of fetus infection
27, ST T A0S -

T (STTH)
Opisthotonus is a sign of :
Tetanus
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28.

11t HAITIRId foheeh! SHHT oh 0T BIdT & :
IUA W ° g A8l

Korsakoff psychosis is caused by the deficiency of :
None of the above

29.

UfESTed WSl o fohe wHe a1 Tfuefiforet O EeraT, SfHeTHIag o Hread ¥, S %I §as & aidl & ?

JREIFS
In how much time after periodontal surgery does epithelial reattachment to root surface via
hemidesmosomes occur ?

1 week

30.

T S A i Hifberet dde T g I Few € -

#11,12
Gracey Curettes used in mesial surface of premolars and molars are :
#11, 12

31.

YS! T HITS o S H HET e I GIH HITT :
I % T AT <l HIETS HH FIeft ATt 2 |
Select the true statement about gingival thickness :
Gingival thickness decreases with age.

32.

ANUG #, fefefad 8 @ s-ar foreemda s e a2 2
Yehiteeh OF

In ANUG, which of the following is Listgarten’s third zone ?
Necrotic zone

33.

& ST H HIATIshiHE ST T FAH M o6 fae Frmferfiaa 5 & shi-eft ferfer =t Sl foparr St € 2
St fafer

Which of the following is a method used to estimate the chronological age in dental radiographs ?
Demirjian method

34.

By (foreme) &t STt o fore forer Iter ot ST fepam ST @ 2
EIGEe)

Which probe is used to check furcation ?
Nabers

35.

CuNiTi T NiTi TR & f¥r=1 81 & Fifeh CuNiTi aR A Bt &
Tafarer ufEd arawa afde

CuNiTi wires differ from NiTi wires as CuNiTi wires have :
Varied transformation temperature variants

36.

STeT 31 314 werel ol Wefe T Hoeh o €Il €, A1 o el 79 Herd 39 g folgAT o Rt ow & wore skl € o
TEETH TSR :

TEE
When two solid material surfaces are in intimate contact, they touch only at the tips of their most

protruding points which are known as :
Asperities
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37.

el e Uf3hfeTeh Srar T RITET B 100°C & SR foham STrar &, wrdgran St s ;
TR & AFH W 9T W

When an acrylic denture curing is done above 100°C, porosity will be seen :
at the thickest parts of the denture

38.

T AT WS o AT o1 31 foparm ST o7 =reelt & o STEuaet e SIauisd 7ieh 1562 % SHTHR 36k I
maﬁﬁaﬁmﬁwaﬁrwﬁﬁmﬁmﬁwﬁmm | 3% o P bR 3 Y o forareg 3
ST fopET STE

cEI-1V
A young patient visited OPD and wants his missing upper right second premolar and first molar replaced
with FPD as per ISO Draft International Standard 1562. Which type of gold alloy shall be used for the

same ?
Type -1V

39.

QT SR T o st vt o & T[oTish H ST 1 SRl €0
Ao . a8 SRty T T
A difference in coefficient of thermal expansion between restoration and teeth will cause :
Loss of marginal integrity

40.

Freferfiaa & i od gife TE E 0
ufirer Rrferbeatfom Faw ;3 o Rrgremg
Which of the following is not correctly matched ?
Ethyl Silicate Bonded Investments: Base metal alloy

41.

Teh 3THAd ATRIehaT sied, ST T IT 99 oh Ueh HI¥d et § B aTelt STl shi & 718 ST ht ETeHT i
Sh AT &, I FET AT 2

Tt sed
A discrete probability distribution that expresses the probability of a given number of events occurring in

a fixed interval of time or space is known as :
Poisson distribution

42,

frfeRad 7 & s -1 wE gulerd 781 8 2
R : TR R AT H
o= I ATTRT &

e A aEr s ET

Which of the following is not correctlymatched ?
Standard : Measure of the amount of
Deviation variation of the values of

a variable about its
median

43.

OHI-S Hehiah H, 3-1 — 6 T WhIT TR & foh ATk o T Hefelt oo feafd @ :
T (93n)

In OHI-S index, a score of the 3-1 — 6 indicates that the oral hygiene status of the individual is :
Poor

CM2

*6* MASTER SET



44.

-7 Torgid ot STt fordeh g feam T o 2
R, I9 3R 3

The web of causation theory was given by :
MacMahon, Pugh and Ipsen

45.

et & & sH-wt UeTEl AHT=T a1k o AT 75% U2Ts TSl T T L § 2
IgG

Which of the following antibody constitutes about 75% of the antibodies of a normal person ?
IgG

46.

foreft <1 1S ST 1 sfturer (H{W) I ATTHAT % qedih o [ T 7T TR |, 27 & "red § 36
I TS 3T STTATd e ST @ :

REMEARMIED
In a study done for evaluation of prevalence of caries in a given population, the ratio of its standard

deviation to the mean of data is called :
Coefficient of Variance

47.

4 T o = o 14 o I H 0-2 PPM WIHIES & | si=<l ol {421 ST wehall @ :
1 mg da/fem

A 4-year-old child has 0-2 PPM fluoride in drinking water. The child can be administered :
1 mg tab/day

48.

oIS 3T 3 9 -8 o a1 et 2 2
T 31g (Wery)

From among the permanent teeth, which one erupts the last ?
Third Molar

49.

T ATHTIF FASTNIES TSIC ST TRAHTT &1 1 SIga YarsT o foT ferigiToeh IOt T ST 3T & 2
FFATHA BITHE FTANTIS WA
Which topical fluoride agent makes use of thixotropic properties for better penetration into inter-proximal

area ?
Acidulated phosphate fluoride gel

50.

TR 3ffeieat foraw (TR o STTET o FHIR0T shi-HT <iforehT affozred gt 2
SAFEAIHIER it 3 dfirenT it

Which nerve will be damaged due to trauma of superior orbital fissure ?
Both oculomotor and ophthalmic nerve

51.

fire it o wicte w1 Swm afsfa 2 -
e TRurerT (i) o

The use of pit and fissure sealant is contraindicated in :
Rampant caries

52.

T AT o T STeifé 2fen Hifash awiia Tiie ST <
30 - 60 mg

The recommended daily oral elemental iron supplement for pregnant women is :
30 -60 mg
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53.

wift <t forarm & wfa waffies daesfier 3R
ECIEIDRI

Organ most sensitive to the action of atropine is :
Gastric glands

54.

T H THIOT T AT fohe o 31 ohl 7T off 2
1977

Rural Health Scheme in India was launched in the year :
1977

5S.

e ¥ e HicTeRTd Tehe B € :
7-8H@ATE WX

Taste buds appear in utero at :
7 — 8 weeks

56.

& Terfeheersh SrferfRm et < fofarm mam o 2
29 AT, 1948

The Dentists Act was introduced on :
29th March, 1948

57.

T STl o G Ao S R ;
HATS

Longest teeth of permanent dentition are :
Canines

S8.

T T T e FfAiad § 8 fore 0 ol Srgart vt o forg iofier forarm ST & 2
W Sl HATEE J9T o {10

The target of the X-ray tube is angulated for all the following except :
To energize the photons

59.

T 1S § UTciToHTSe ATSaiae IR AT STell STt § <ifohd h1e § SIea ITH a1 foram T & | 3fea Eied
SITH G o FoTe 3T forarm ST =i 2

UV AT W Athere e fHeTra Srar @
A cart is poured with polyvinyl siloxane impression materials but details have not been achieved in the

cart. What should be done in order to achieve proper details ?
Surfactant is added in impression material

60.

et areg o fehean aia 2 -
Tt 31 (W)

Tooth closest to maxillary sinus is :
Second Molar

61.

Ut Testt H, affafer o % FH R FATE |
T

In Penicillin allergy, Penicillin acts as a :
Hapten

CM2
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62.

frfeaRad o & H-a1 Tewifoee ™ (Fera) & ded § wet gfad 78 8 2
UL W ° g A8l

Which of the following is not correctly matched regading the exfoliation ?
None of the above

63.

e a1 WM o foru witfiaes mifthctforr i swrarshTicar st sitr s o fore strargaess fefofaa sorfsid e &
ﬁ@ﬁ% :

TeraremiSiT dieayr (dier)
One of the following adjunctive aids, necessary to check on the efficacy of oral prophylaxis for a young
patient is :

Disclosing solution

64.

ft T STd HTh o hT BH-HT Tehrleh ST I11RT, et feTaalf ST TSie & 39T § YaT rerdr & for oeff &
afdl o shaet Hieet foers qrT H witeh ST R 2
o farfer

The indicated tooth brushing technique in a patient where usage of disclosing agent reveals that the patient
has plaque accumulation only at the cemental third of the teeth is :
Bass method

65.

T SR e Rrieiforee Terdt & wiis § Suiriefimiees gar et odn € | 39 Wit 7 frefefad 3 @ = 72t
@ ST ?

FIRISTIAATH
A junior anaesthesiologist accidentally inserts a parasympathomimetic drug in a patient. Which of the
following will not be seen in this patient ?

Bronchodilation

66.

ferelt Syoft 3 fereft ST <hT WIS it A G shictH & Hsiferd A Wl o foTT fohe ToRiet efer shT SURIT fefar
ST 2

VLOOKUP
Which Excel function is used to search for a value in a range and return a related value from another

column ?
VLOOKUP

67.

FfcTRad # & 4 -1 I WAl 1 G o © 2
DoS HAT

Which of the following is a class of computer threat ?
DosS attacks

68.

TIEIURTH H, HH-HT Tk ST Ffdshi 1 T AT ¢ 3T 32T sreh hl @ HAT & 2
A

In HDFS, which component coordinates data replication and oversees the data blocks ?
NameNode

69.

freforfad o @ s-ar ordtfd 2o 1 et TE ® 2
TEvie et

Which of the following is not an example of unstructured data ?
Spreadsheet tables

CM2
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70.

frfeTRa o & i€l T qTchTicTeh YT UM & ST =/ieie =, ALt qoh foh Digai o fo +ft Eeanford it & 2
IMPS
Which of the following is an instantaneous payment system that operates around-the-clock, even on
holidays ?
IMPS

71.

frafafed & @ ®H-a1 0T fearsd 1 Sarewr 787 2 2
TR HIH

Which of the following is not an example of an IoT device ?
Desktop computer

72.

o Tl dreerri & g €fir-ar ffSteet syrrar o foru forer sfcre=merfiardt wres o1 ST fopa ST € 2
ISO 20022
Which interoperability standard is used for cross-border digital payments involving multiple financial

institutions ?
1ISO 20022

73.

fefSea foxfter afieqratt o wirar forgeroor # STeR{der WTST SRAERO0T it o folT -1 Aefi @i wied qa
Tt 7 2

LSTM (ST 9ITé-20 A Jeaeh
Which machine learning model is most effective for natural language processing tasks in sentiment

analysis of digital financial reviews ?
LSTM (Long Short-Term Memory) Networks

74.

Tedferd 3R sadafera st (@f) o o g st € 2
yafera IfeRTe Areret ATt 2T T IUFNT HLaT 7, Falfeh sruiatera stfermm famm eraret aret ger ot
SUATT HATE |

What is the key difference between supervised and unsupervised learning ?
Supervised learning uses labelled data, while unsupervised learning uses unlabelled data.

75.

FAT %1 01 €9 RIT & 2

TS UA TR et (WTSeT e e dTieAehT)
What is full-form of FAT ?
File Allocation Table

76.

0 ¥ -7 [oT TeHH THSH 10 Yo forar mam 2 2

TS gUH [oT H
Which of these IoT platforms is provided by Amazon ?
AWS IoT Core

77.

a3 @ dieet i o & o fora gl (ShHdeh) o1 SaTdes &9 8 IUNT foRaT SITaT © 2
Torwet

Which framework is widely used for developing machine learning models ?
TensorFlow

CM2
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78. AT AT3E A I fore I weyIford fomam T o 2
1991
What year was the World Wide Web introduced to the public ?
1991
79.  THIH-HT WFEIRR SNYA-TIY HIFAIT T IITEAT & 2
o
Which software is an example of open-source software ?
Linux
80. =TT oS o k¥ ol ITEIAT § STTeh H Saet o foTe 31T forg forarm skt o= it 2
Shift+F3
Which action would you use to quickly change the case of selected text to uppercase ?
Shift+F3
81. TmfciRad # @ fordl 2008 H FEhT SRT “HIAEAT sh1 3T Hivahicish fortrerd” | fera T o 2
THEATT
Which of the following was declared as the “Intangible Cultural Heritage of Humanity” by UNESCO in
2008 ?
Ramlila
82. GG Hid weTd THTE feadt o1 S 3Tt awT o form foret o gatm am 2
TIEEAT
In which district of Uttar Pradesh was the renowned poet Mahaveer Prasad Dwivedi
born ?
Raebareli
83. I VSN o FATeTiad ITeti ot I § Sf&AvT o ohif g feerd i :
dreAti, TWETS, THIRGY, waET
Arrange the following cities of Uttar Pradesh from North to South :
Pilibhit, Hardoi, Hamirpur, Mahoba
84. 3 TECAAT ST shl TEAT ShITSIC FSRA W o TarcIdT HTH H HEarqul MHeRT TS 31T 3T WaRT 6 ATESE IR
Mg
SRTRThI AT G
Identify the freedom fighter who played a pivotal role in India’s struggle for freedom and belonged to
Shahjahanpur district of Uttar Pradesh.
Ashfaqulla Khan
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85. fr=fciRaad =t foem Hifste
-1 TEI-11
a. TdaTeriS gafl SRR i B
b. HTEdl ST el ARG i, 3
c. TUH UEf STERTT iii. T
d. SHETY gafl THIRe iv. TReRE
oo
a—ii, b—iii,c—i,d—iv
Match the following :
List-I List-1T
a. Nawabganj Bird Sanctuary 1. Mainpuri
b. Parvati Aranga Bird Sanctuary ii. Unnao
c. Saman Bird Sanctuary iii. Gonda
d. Samaspura Bird Sanctuary iv. Raebareli
Options :
a—ii,b—iii,c—i,d-iv
86. I YR ST 2Afiyeh forem A & weol # frfeifiaa # @ e e w2 2
THETT 8, 9 37 10 o ferenfeiat st wedren s st st T 6,000 SreaTe= Tt forew T |
Which of the following statements is correct regarding the Uttar Pradesh Bal Shramik Vidya Yojana ?
Students of class 8, 9 and 10 will get an incentive amount of ¥ 6,000 on passing each class.
87. TfcTRad weemsti st 3kt Reerfar o @mer grferd shteh =t fow g e @ W&t swgf
. WRAFATHH [ TRER
2. SeRErER L ae
3. @wfEH 111, SRroTEt
4, VAERIEE V. TIRRS
e :
S 1L, 210, 31, 41V
]1:\)/Iai1tch the following institutions with their location and choose the correct answer from the codes given
1.e Ol\évhérat Kala Bhavan I.  Gorakhpur
2. Jat Regimental Centre II. Bareilly
3. Rail Museum III. Varanasi
4. Jawahar Planetarium  IV. Prayagraj
Code :
1-I11, 211, 3-1, 4-1V
88. 1950 H TS o T3 o SITG I ST 6 Tt HEAHAT i o ?
Mg geer ua
Who was the first Chief Minister of Uttar Pradesh after the state’s formation in 1950 ?
Govind Ballabh Pant
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89. TTT I 36k TATIAT Y h 7TeTd SIS GATT ;
T HEY FHaRoT Uet ST |em, TUeT - 1981
Identify the incorrectly matched institution with its year of establishment :
National Institute of Cancer Prevention and Research, Nodia — 1981
90. 3T A HT -8 FHid AT T -8~ 26 T Iig 2, i1 39 7T T WHTeh Mieiersy & 2
R e
Which poet from Uttar Pradesh is famous for his work “Ze-hal-e-miskin”, an early prototype of the Urdu
ghazal ?
Amir Khusrau
91. 2023 H TI= Foeur Lo H Fohel TTEX oh1 ST Q¥ TS H “HaTd Tooes e BTN foha T o 2
ElLE
Which city was declared as the “Cleanest City” within the state of Uttar Pradesh by the Swachh
Survekshan rankings in 2023 ?
Noida
92. Trmferfiaa & & fore o H €3k Wid (1SS ST ohT 10 SIeTeht “It Savr” Y foaim 71 2
1950
In which of the following years was United Provinces renamed as “Uttar Pradesh” ?
1950
93.  Ta feRwehT TSTETT off 2
HETAT
Sravasti was the capital of :
Kosalas
94, I YA H TR T FEh WUl 2hl TTORT e A kel b1 71 off 2
AT, 1917
When and where was the first milk cooperative society established in Uttar Pradesh ?
Allahabad, 1917
95. TrefcTiae o & forer s H Hget fég shictst ot TmomT 26t 2
T aEe
Who among the following established the Central Hindu College in Banaras ?
Annie Besant
96. INTHATEET hi Tk T@ ST, feferamgy warfiess ureh el feord @ 2
aftET
Dibiyapur Plastic Park, a flagship project by UPSIDA is located in :
Auraiya
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97.

qU W Al Tdh Y § R WA A ¥ TH W AR F A 8 - TR, s,
3T AT |
aE, FER

The Purna Kumbh Mela takes place every years at one of the four places by rotation —
Prayagraj, Ujjain, and Nashik.
Twelve, Haridwar

98.

IR T H o AT TS fohd o7 o Tedimm 8 T g5 @ 2
Hiferaa €9 (&)

The Tehri Dam project in Uttar Pradesh was completed with the collaboration of which country ?
U.S.S.R. (Russia)

99.

I To | Trft 3redt nidefierar # oSt T & T U et <o o, A8 ge ek s it wediens uge
292
I el ufEes esmes
II. SR forehre o foTu TR Tsa U TSieT (JuausTse)
L. T, GATaLoT 3R S uiue
IV. SR e uitae dor
%lWCI‘:
I, I1 3R 111

“Meri Bus, Meri Sadak”, an initiative to accelerate sustainable urban mobility in Uttar Pradesh, is a
collaboration between

1. Directorate of Urban Transport
II.  United States Agency for International Development (USAID)
III. Council on Energy, Environment and Water
IV. International Road Transport Union
Options :
L, II and 11T

100.

IR T T SH-8T U6 T T8 o GHTTY T o ®9 H STHT 1T € 2
FHITR

Which historical site in Uttar Pradesh is known for being the burial place of the Buddha ?
Kushinagar
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